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Adding and Resolving Forces
Lesson Notes

Learning Outcomes
+  How can force vectors be added?
+  How can force vectors be resolved into components?
+  What role does adding and resolving vectors have in the analysis of Physics problems?
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Graphical Addition of Vectors - Head-to-Tail Method
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Adding Right Angle Vectors: Pythagorean Theorem and SOH CAH TOA
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Vector Components
+ Vectors directed at angles to the coordinate axes can be
thought of as having two parts. These parts are called vector
components.
+ Axand Ay are the components of vector A. They are determined
by projecting the vector A onto the x- and the y-axis.
+ A comonent describes the effect of a vector in a given direction.

Vector Resolution
Vector resolution is the process of determining the components or parts of a vector. It relies
on the use of trigonometry - SOH CAH TOA.
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